
	1.
	What is the solution to the equation below?


 10x – 24 – 3x = [image: /files/assess_files/97124d8a-4dc7-43c7-b87a-448f3138aecb/3a177368-121b-4a6c-83f0-f762995306b6.png](14x – 24)


	

	 
		A.
	–3




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	2.
	What is the value of m in the equation shown below?


[image: /files/assess_files/b3c98083-1b0e-4694-aaf2-60cbfc5e4759/fbfe2dc4-9dea-40e5-8a90-caa0132c17d1.png]


	

	 
		A.
	15




	
	

	 
		B.
	6




	
	

	 
		C.
	0




	
	

	 
		D.
	–9




	
	

	 
	 



	3.
	What is the solution to the equation shown below?


4(2x – 3) = 5x – 42 – 2x


	

	 
		A.
	–9




	
	

	 
		B.
	–6




	
	

	 
		C.
	6




	
	

	 
		D.
	9




	
	

	 
	 



	4.
	What is the value of x in the equation –4.2x – 8.3 = –3.7(x + 3)?

	

	 
		A.
	5.6




	
	

	 
		B.
	2.5




	
	

	 
		C.
	–2.8




	
	

	 
		D.
	–38.8




	
	

	 
	 



	5.
	What is the solution to the equation –3(x – 1) + 3 = 9 – 2(x + 1)?

	

	 
		A.
	8




	
	

	 
		B.
	1




	
	

	 
		C.
	–1




	
	

	 
		D.
	–8




	
	

	 
	 



	6.
	A cell phone company charges $120 for the phone, and then $35 a month for phone service. Another cell phone company charges $55 a month for phone service with a free phone. After how many months will the phone services cost the same?

	

	 
		A.
	4




	
	

	 
		B.
	5




	
	

	 
		C.
	6




	
	

	 
		D.
	7




	
	

	 
	 



	7.
	What is the solution to the equation 10x – 10 = 4(x + 1) + 6x – 14?

	

	 
		A.
	–20




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	8.
	Three is added to the quotient of a number and 4, and the result is 8 less than 3 times the same number. What is the value of this number?

	

	 
		A.
	[image: /files/assess_files/26eb968b-d3fc-4353-bd7c-b6a71c3cf3f1/ed17288f-3700-4a33-8c59-0da387ca3b08.png]




	
	

	 
		B.
	[image: /files/assess_files/76217c02-3962-4797-863e-a54136fe7389/2341d24c-3c31-4df6-ac51-e71c6b4865f6.png]




	
	

	 
		C.
	[image: /files/assess_files/f3cba2ec-83d7-4976-8ca5-ed34f1f0baf4/29fd0566-1b3d-49d5-acfc-eec934646586.png]




	
	

	 
		D.
	[image: /files/assess_files/8b5cd69b-9510-47f7-b2cb-ac768ba97195/d07cf5fe-9c01-4604-8a7c-89638e9bba4b.png]




	
	

	 
	 



	9.
	What is the solution to the equation below?


 2(4w + 4) = 2(1 + 2w) + 2w



	

	 
		A.
	–3




	
	

	 
		B.
	5




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	10.
	Rental Company Xcharges a flat fee of $50 plus $30 per day to rent a car. Rental Company Ycharges a flat rate of $60 plus $40 per day to rent a car. Rental Company Yalso discounts the daily cost by $12 for its Loyalty Club members. If Emily is a member of the Loyalty Club, how many days can she rent a car at Rental Company Xat the same cost as renting a car at Rental Company Y?

	

	 
		A.
	1 day




	
	

	 
		B.
	5 days




	
	

	 
		C.
	12 days




	
	

	 
		D.
	20 days




	
	

	 
	 



	11.
	What is the value of x in the equation 6x – 4 + 2x = 4(5 + 2x)?

	

	 
		A.
	4




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	12.
	What is the solution to the equation below?


 4(x – 3) + 5 = 2(2x – 1) + 7


	

	 
		A.
	
[image: /files/assess_files/30ead23c-45a4-4ced-a252-53e83c138233/811f4cf8-eef2-4397-acca-bf09baa2a72a.png]





	
	

	 
		B.
	
[image: /files/assess_files/a59e5c01-0ae4-45b0-9b22-d6d5251ec6b2/2832fdbd-3954-4acd-ab88-65f919c21797.png]





	
	

	 
		C.
	infinitely many solutions




	
	

	 
		D.
	no solution




	
	

	 
	 



	13.
	What is the solution to the equation [image: /files/assess_files/22aa6f85-b4f7-464d-99d9-14ccc117ece4/db0d5f24-d325-43c1-8cc6-dd23e336e77d.png]?

	

	 
		A.
	
[image: /files/assess_files/38977d74-a273-46cb-ad9d-1012f6271249/77ea14ea-e8b2-4daf-8ed2-cf0e7cf135c9.png]






	
	

	 
		B.
	[image: /files/assess_files/899ad790-58e4-43e4-ae44-69e3be0b1c95/93bb5640-18ad-4327-9ab2-b727a62e6838.png]




	
	

	 
		C.
	[image: /files/assess_files/2253cb71-db61-416a-9ba6-83a5d3004e5e/ecb5a009-620a-4901-9643-87536682fda7.png]




	
	

	 
		D.
	[image: /files/assess_files/941758e5-f009-440e-8402-414320b655f4/29b8c4c2-6e34-4ff4-ae32-b2fe404b2116.png]




	
	

	 
	 



	14.
	What is the value of x in the equation below?
  


[image: /files/assess_files/a8b2b3db-9077-4916-83cf-d4c1128bfe6c/bb53480f-9630-4b54-b6d7-09860f0c1b1a.png]


	

	 
		A.
	
[image: /files/assess_files/d9862810-62e4-41db-b06b-c8182b7ad4c8/dc3b6748-a817-4aa5-8d0a-927137504d1c.png]





	
	

	 
		B.
	[image: /files/assess_files/f8370658-ab84-4be5-ab39-d3d51e677ab4/1d4c71f5-e4f8-450a-8d00-1e9ad316fb0e.png]




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	15.
	What is the solution to the equation below?


[image: /files/assess_files/6b91e95e-8176-4783-88b2-e5e8f727796a/45d8abde-778e-4360-a80f-eaeab5402a5c.png]  


	

	 
		A.
	
[image: /files/assess_files/ec22a1d1-83b0-4f1c-8667-2f282f9414ab/a76cc2b4-f59a-47a6-b51a-3b3a13ba78e8.png]





	
	

	 
		B.
	
[image: /files/assess_files/05a1235c-96dd-4eb5-ac2d-0cfd03d311ae/f84a4b3d-e359-48c5-98b7-69a141c997ea.png]





	
	

	 
		C.
	
[image: /files/assess_files/721587cb-c2b2-49d6-b6b8-c776f7e3c6d1/0ab778e6-27c6-43f4-b493-62be50546e7b.png]





	
	

	 
		D.
	
[image: /files/assess_files/fb38fa0f-bc41-4f78-aa86-208be987bd77/060caa30-fcc2-4687-9e75-b1b9ae022941.png]





	
	

	 
	 



	16.
	What is the solution to the equation [image: /files/assess_files/24c6bd9d-0c63-4aea-98cf-5e74e8b956d5/aa571369-a829-43db-9682-31c76dd523c2.png]?

	

	 
		A.
	2




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	17.
	What is the solution to the equation below?


[image: /files/assess_files/f78690b9-e24c-4a9b-a937-77446410c776/9105789a-ae4a-496c-9fe4-02ff4ce11fe0.png]


	

	 
		A.
	infinite number of solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	[image: /files/assess_files/b3b79937-1983-4416-86d7-25fc0272f204/f2256092-036e-4492-88f6-05d81e8f3ab8.png]




	
	

	 
		D.
	[image: /files/assess_files/3a69ce3a-6b84-4457-ae97-0a57db2bad43/f56108aa-6ef3-4487-a682-3c4bd14481ba.png]




	
	

	 
	 



	18.
	What is the solution to the equation below?


2x – [image: /files/assess_files/c180a0f0-adea-4f79-847c-33a9ffbb6e00/df28076c-a47d-4760-8334-7d87e0ac566c.png](12 – 9x) = [image: /files/assess_files/c180a0f0-adea-4f79-847c-33a9ffbb6e00/9ceb33f9-2345-4730-b117-20ee40b149ce.png](12x – 8) – x





	

	 
		A.
	[image: /files/assess_files/cbb891c0-b9e1-4bb0-8c9c-5a8ba8373a2f/5804277e-0de5-4d9c-95b7-9d290d31fbfd.png]




	
	

	 
		B.
	[image: /files/assess_files/b4efaee7-6edb-422a-9403-49340c58f75c/88e7e341-f4aa-4141-9c06-ea7a569b54d1.png]





	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	19.
	What is the solution to the equation 3 – 2(x + 1) = 2(1 – x)?

	

	 
		A.
	x = –2




	
	

	 
		B.
	x = 2




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	20.
	What is the solution to the equation below? 

5(2n – 8) + 4n = –20 + 2(–10 – 3n)


	

	 
		A.
	–4





	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	21.
	A taxi company charges a flat fee of $6.00, plus $1.10 per mile after the first 3 miles. Sarah’s taxi cab ride cost $22.50. How many total miles did Sarah travel?

	

	 
		A.
	15 miles




	
	

	 
		B.
	18 miles




	
	

	 
		C.
	20 miles




	
	

	 
		D.
	22 miles




	
	

	 
	 



	22.
	The measure of a leg of an isosceles triangle is twice the measure of its base. If the perimeter of the triangle is 64 units, what is the measure of the base of the triangle?

	

	 
		A.
	5.7 units




	
	

	 
		B.
	12.8 units




	
	

	 
		C.
	16.0 units




	
	

	 
		D.
	21.3 units




	
	

	 
	 



	23.
	Robert bought new carpet for his living room. The store charged a flat rate of $300.00 to remove the old carpet and install the new carpet. Robert paid $2.79 per square foot for carpet. Before taxes, Robert paid a total of $1,262.55 for carpet. How many square feet of carpet did Robert purchase?

	

	 
		A.
	153 square feet




	
	

	 
		B.
	345 square feet




	
	

	 
		C.
	452 square feet




	
	

	 
		D.
	560 square feet




	
	

	 
	 



	24.
	Trusted Car Rental Company charges a fee of $20 per day, plus $0.20 per mile. Zippy Car Rental Company charges $30 per day, plus $0.15 per mile. If John needs a car for 2 days, how many miles would he have to drive for the cost of the cars to be the same price?

	

	 
		A.
	100 miles




	
	

	 
		B.
	200 miles




	
	

	 
		C.
	300 miles




	
	

	 
		D.
	400 miles




	
	

	 
	 



	25.
	What is the solution to the equation below?


3(x – 2) – x = 7 + 5x – 9 – 3x


	

	 
		A.
	1




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	26.
	Triangle MNO is shown below.

[image: /files/assess_files/d1181b8d-e1dd-4ed8-bb76-e9312b19aac3/46255.png]
 What is the measure of ∠MNO?

	

	 
		A.
	13°




	
	

	 
		B.
	23°




	
	

	 
		C.
	51°




	
	

	 
		D.
	71°




	
	

	 
	 



	27.
	What is the solution to the equation below?


 3(8x + 2) + 2 = 8(–3x – 2) + 8



	

	 
		A.
	no solution




	
	

	 
		B.
	
[image: /files/assess_files/28fe3066-fa5a-4fc4-8de5-b93d408fd617/3819a311-dad2-4b41-a61b-b3e140cfb617.png]





	
	

	 
		C.
	[image: /files/assess_files/785bf213-15d6-4a00-9a7e-3d04eaa00c4d/24b28575-421d-4524-9224-bbcc0c2214a8.png]




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	28.
	What is the value of x in the equation below?


[image: /files/assess_files/eb8a780b-1619-456c-a461-6deb7b29591f/9d2a7d5e-ac07-4c64-a852-d5599bfd54e7.png] = [image: /files/assess_files/eb8a780b-1619-456c-a461-6deb7b29591f/c4ce2970-1240-4bb4-92a0-68ea47c2d2ba.png]


	

	 
		A.
	–24




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	29.
	What is the solution to the equation 6x + 15 + 2x + 1 = 16?

	

	 
		A.
	4




	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	30.
	The length of a rectangle is four times the width. If the perimeter of the rectangle is 50 inches, what is the area of this rectangle?

	

	 
		A.
	40 in.2




	
	

	 
		B.
	100 in.2




	
	

	 
		C.
	280 in.2




	
	

	 
		D.
	400 in.2




	
	

	 
	 



	31.
	What is the value of x in the equation 2(x + 1) + 3 = 6?

	

	 
		A.
	–0.5




	
	

	 
		B.
	0.5




	
	

	 
		C.
	1




	
	

	 
		D.
	2




	
	

	 
	 



	32.
	Two times a number plus thirty-seven is equal to five less than five times the same number. What is the number?

	

	 
		A.
	5




	
	

	 
		B.
	6




	
	

	 
		C.
	11




	
	

	 
		D.
	14




	
	

	 
	 



	33.
	What is the solution to the equation below?



 4(3x + 5) = 5(x + 4) + 7x


	

	 
		A.
	infinite solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	0




	
	

	 
		D.
	[image: /files/assess_files/431d450a-3843-46f3-a674-4e6c3dfb07b1/805a2de8-c57d-40b5-8e89-128a7f0d82e3.png]





	
	

	 
	 



	34.
	What is the value of x in the equation below?


[image: /files/assess_files/2bef1483-f6ff-44ef-9bf8-27d6abfa0a58/042cec68-086a-49e7-80ed-263205995010.png]


	

	 
		A.
	[image: /files/assess_files/42c0fa34-9f44-45b5-ad14-dcbf3538170c/67a60f13-e0a1-4f7e-8553-923ebef373df.png]




	
	

	 
		B.
	[image: /files/assess_files/a8ff6df8-aabf-48fb-b32c-a7af6491fb09/722c349e-cd9e-4a9b-9b97-410d188b8c07.png]




	
	

	 
		C.
	[image: /files/assess_files/71a402ae-07e4-475b-bf25-a54569787bf4/0bf00e28-8c38-42cd-b62d-c8935cc04428.png]




	
	

	 
		D.
	[image: /files/assess_files/eadc5207-df1b-486e-86a0-4e95b4d6401c/915af520-2f39-407a-9947-3e8b87ad4506.png]




	
	

	 
	 



	35.
	What is the value of x in the equation 5(2x − 6) = 6 − 6(3x − 1)?

	

	 
		A.
	0.4




	
	

	 
		B.
	0.6




	
	

	 
		C.
	1.1




	
	

	 
		D.
	1.5




	
	

	 
	 



	36.
	What is the solution to the equation 3x + 5(x – 9) = 10x + 45 – 2x?

	

	 
		A.
	infinite solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	x = 5




	
	

	 
		D.
	x = 0




	
	

	 
	 



	37.
	What is the value of x in the equation shown below?


 3x – 2(3x + 4) = 4(x + 5) + 7


	

	 
		A.
	–35




	
	

	 
		B.
	–5




	
	

	 
		C.
	5




	
	

	 
		D.
	35




	
	

	 
	 



	38.
	What is the value of x in the equation [image: /files/assess_files/9359cb55-55e6-482c-83cc-1fa34ef088c4/96dcf3ce-b3c9-4964-afd4-c99f273fe933.png]?

	

	 
		A.
	7




	
	

	 
		B.
	12




	
	

	 
		C.
	36




	
	

	 
		D.
	60




	
	

	 
	 



	39.
	What is the solution to the equation 3y + 7(5y – 4) + 10 = 6(y – 3) + 32y?


	

	 
		A.
	infinite solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	[image: /files/assess_files/f1c8ca23-56c4-47a7-b84e-99b94e9379f7/484ee4cf-ab45-4755-a917-e1648237d3ea.png]




	
	

	 
		D.
	[image: /files/assess_files/709d8d95-c8e0-4424-b7cf-b21614c254be/8ccf0b04-fb72-4998-a837-615384450ee2.png]




	
	

	 
	 



	40.
	What is the solution to the equation below?


[image: /files/assess_files/cb90cf35-7c61-4241-afa9-fccd46502ab8/2254dda6-c059-4f33-8892-fc4b6bba1c2a.png]


	

	 
		A.
	4




	
	

	 
		B.
	2




	
	

	 
		C.
	–2





	
	

	 
		D.
	–4





	
	

	 
	 



	41.
	What is the value of x in the equation below? 

[image: /files/assess_files/4c0b4ef0-2a1f-46db-8abc-038cca4c8bc1/692be971-f6ee-40ca-b1ee-6b769f87e0f5.png](18x – 3) + x = [image: /files/assess_files/4c0b4ef0-2a1f-46db-8abc-038cca4c8bc1/748da911-ea64-48cc-ad87-624e4fdb5801.png](27x – 4)


	

	 
		A.
	infinite solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	0




	
	

	 
		D.
	[image: /files/assess_files/3e6b2494-95ba-4657-a94d-5add7f21df76/3360bc02-0771-47dc-87f1-5d666ce7379c.png]





	
	

	 
	 



	42.
	Three times Zoey’s age plus Ayden’s age is equal to 10. Ayden is twice Zoey’s age. What is Ayden’s age?

	

	 
		A.
	2




	
	

	 
		B.
	4




	
	

	 
		C.
	8




	
	

	 
		D.
	12




	
	

	 
	 



	43.
	Which statement is true about the equation 2(4x + 10) = 8x + 12?

	

	 
		A.
	The equation has only one solution, x = 8.




	
	

	 
		B.
	The equation has only one solution, x = –8.




	
	

	 
		C.
	The equation has no solution.




	
	

	 
		D.
	The equation has infinite solutions.




	
	

	 
	 



	44.
	What is the solution to the equation below?


2.5(9.3 – 3.72x) = –2.5(–3.72x + 9.3)


	

	 
		A.
	–1





	
	

	 
		B.
	2.5




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	45.
	Wanda is 10 years older than Michael. Linda is 5 years older than Wanda. The sum of all their ages is 31 years. Which equation represents the sum of their ages in terms of Wanda’s age (w)?

	

	 
		A.
	2w + 15 = 31




	
	

	 
		B.
	3w + 15 = 31




	
	

	 
		C.
	2w − 5 = 31




	
	

	 
		D.
	3w − 5 = 31




	
	

	 
	 



	46.
	Company X uses the equation c = 10t + 40 to determine the cost (c) of a project given the time (t) it takes to complete the project. Company Y uses the equation c = 20t to determine the cost of a project given the amount of time it takes to complete the project. How many hours would a project take that costs the same for both companies?

	

	 
		A.
	1.75 hours




	
	

	 
		B.
	4 hours




	
	

	 
		C.
	5 hours




	
	

	 
		D.
	30 hours




	
	

	 
	 



	47.
	Which is a solution to 2(x + 4) + 2 = 7?

	

	 
		A.
	–1.5




	
	

	 
		B.
	–0.5




	
	

	 
		C.
	1




	
	

	 
		D.
	1.5




	
	

	 
	 



	48.
	At a pizza restaurant, a large cheese pizza costs $8.99, plus $1.25 per topping. If Laura paid $13.99 for a large pizza before taxes, how many toppings did Laura put on her pizza?

	

	 
		A.
	3




	
	

	 
		B.
	4




	
	

	 
		C.
	5




	
	

	 
		D.
	6




	
	

	 
	 



	49.
	A rectangular driveway is twice as long as it is wide. If the perimeter is 100 ft, what is the approximate width of the driveway?

	

	 
		A.
	13 ft




	
	

	 
		B.
	17 ft




	
	

	 
		C.
	33 ft




	
	

	 
		D.
	50 ft




	
	

	 
	 



	50.
	What is the solution to the equation –4y – 15 = –3(y + 6) – (y + 3)?

	

	 
		A.
	0




	
	

	 
		B.
	3




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	51.
	What is the value of x in the equation shown below?


3(x – 4) + 5 = 20


	

	 
		A.
	1




	
	

	 
		B.
	5




	
	

	 
		C.
	9




	
	

	 
		D.
	19




	
	

	 
	 



	52.
	Ted has two boards. The length of the second board is five inches more than two times the length of the first board. The total length of the two boards is 65 inches. How many inches long is the first board?

	

	 
		A.
	20 inches




	
	

	 
		B.
	25 inches




	
	

	 
		C.
	45 inches




	
	

	 
		D.
	60 inches




	
	

	 
	 



	53.
	What is the value of x in 5(x + 1) + 5 = 5?

	

	 
		A.
	[image: /files/assess_files/2c6b4674-c74a-4a9f-927a-14883aab88f1/04092255-f5af-4237-9a62-4273ceb7a63d.png]




	
	

	 
		B.
	[image: /files/assess_files/a35b5733-c9b7-498e-a038-fb3208c88085/647bdc13-636a-46e8-957b-a9af13941e82.png]




	
	

	 
		C.
	[image: /files/assess_files/fe1c7e05-4568-49c4-b762-b4d2cbb2ae65/fea7a769-32b5-4d6d-b2ad-ecb12a8cf1aa.png]




	
	

	 
		D.
	[image: /files/assess_files/a48006ae-0026-4115-b50d-d9568ab13714/3b9facee-75fb-489b-be0e-f26a1475aa56.png]




	
	

	 
	 



	54.
	What is the value of x in the equation shown below?


[image: /files/assess_files/008f8ff7-cbaa-4d0b-bd55-95d074471c80/4a9b6201-3ad7-4e8f-9aa5-67130f7c41bb.png]



	

	 
		A.
	[image: /files/assess_files/bc28b771-b103-410c-aae9-efce8c65ece5/940680e6-8f9a-47fe-a113-ce6ad94baf11.png]




	
	

	 
		B.
	[image: /files/assess_files/be5ffc78-e8c1-462f-b3b8-5b535e4e840f/73714a38-a3c4-4d8b-82c6-344a93086310.png]




	
	

	 
		C.
	[image: /files/assess_files/0cde8a4e-08c9-442f-afb7-160ab324e661/69bb431a-7dfc-480f-abfd-b975981e9a7b.png]




	
	

	 
		D.
	[image: /files/assess_files/32fecf75-e144-4a81-85ae-bd28ddeaa33b/67f53b8d-8dc8-413e-9527-c3fc5fcdce4c.png]




	
	

	 
	 



	55.
	
What is the solution to the equation below?


[image: /files/assess_files/9c9901f7-7cc5-4027-b0b3-821875fe159f/e5aa5df4-e548-4369-9acd-2929846f56b9.png](6x + 10) + x = 9x + 5(1 – x)



	

	 
		A.
	infinitely many solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	0




	
	

	 
		D.
	[image: /files/assess_files/7551dbbe-8bc3-4465-998a-1a63b7f4989a/a648aaf7-8643-4321-96d9-26436535b851.png]





	
	

	 
	 



	56.
	What is the value of x in the equation 2(x + 4) + 3 = 8?

	

	 
		A.
	–1.5




	
	

	 
		B.
	–0.5




	
	

	 
		C.
	0.5




	
	

	 
		D.
	1.5




	
	

	 
	 



	57.
	What is the value of n in the equation below?


8n + 3 [image: /files/assess_files/afcdee8c-a065-4f69-8fcd-6ff4ccc29f0e/faba9c30-fda7-474a-95b6-106b246d8ca6.png] = 15 – 4 [image: /files/assess_files/afcdee8c-a065-4f69-8fcd-6ff4ccc29f0e/5dc9488c-ff2d-4ac6-90b4-4bd6a7bcc19d.png]


	

	 
		A.
	[image: /files/assess_files/0b52a916-988e-4e0b-bab2-df8463fbbba3/9faf855b-8bc7-4e04-8c38-6fde6b03cf9d.png]





	
	

	 
		B.
	[image: /files/assess_files/83f0d7ba-3eaa-4e9e-97e2-ad72499c937f/16ddba8b-85cd-47a7-b25b-14af17e007f2.png]





	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	58.
	A piece of wood that measures 175 in. long was cut into three pieces. The second piece of wood is 3 in. more than 3 times the length of the first piece of wood. The third piece of wood is 8 in. less than 4 times the length of the first piece of wood. What is the length of the longest piece of wood?

	

	 
		A.
	70 in.




	
	

	 
		B.
	77 in.




	
	

	 
		C.
	82 in.




	
	

	 
		D.
	85 in.




	
	

	 
	 



	59.
	What is the solution to the equation 8 – 7(4x – 2) = –28x + 6?

	

	 
		A.
	6




	
	

	 
		B.
	12




	
	

	 
		C.
	no solution




	
	

	 
		D.
	all real numbers




	
	

	 
	 



	60.
	The sum of three consecutive odd numbers is 39. What is the largest of the three numbers?

	

	 
		A.
	13




	
	

	 
		B.
	15




	
	

	 
		C.
	17




	
	

	 
		D.
	19




	
	

	 
	 



	61.
	A gym membership charges an initial fee of $100 plus a $25 fee every month. Another gym only charges $45 every month. After how many months will the total cost for both gyms be the same?

	

	 
		A.
	2




	
	

	 
		B.
	3




	
	

	 
		C.
	4




	
	

	 
		D.
	5




	
	

	 
	 



	62.
	A telephone company charges a monthly fee of $24 for 100 minutes of long distance service. The customer must then pay 7 cents per additional minute over 100. Todd’s phone bill for October was $26.38, not including taxes. How many total minutes of long distance did Todd use in October?

	

	 
		A.
	34




	
	

	 
		B.
	66




	
	

	 
		C.
	134




	
	

	 
		D.
	377




	
	

	 
	 



	63.
	What is the value of n in the equation [image: /files/assess_files/10bc12ee-ae54-4694-b479-4526ca2e73c8/a8a96e19-f7cb-495b-80a8-d083a825cc5c.png] ?

	

	 
		A.
	96




	
	

	 
		B.
	64




	
	

	 
		C.
	–36





	
	

	 
		D.
	–54





	
	

	 
	 



	64.
	What is the value of y in the equation 4(5y – 9) – 24y + 70 = 4(1 – 21y)?

	

	 
		A.
	[image: /files/assess_files/e8964057-8697-4b7a-9169-86dda5594ed8/ba772151-f58e-44a6-82c9-50392cdde22b.png]





	
	

	 
		B.
	[image: /files/assess_files/01735079-8666-4464-a540-958ffbf99ffa/c399894c-c913-4b39-84ea-f312e20b410d.png]





	
	

	 
		C.
	[image: /files/assess_files/4b135d5a-9031-475f-945b-0540eac050e3/06cc5593-c25a-4bd1-a94d-babee0360ac3.png]





	
	

	 
		D.
	[image: /files/assess_files/39dc6972-8b6c-4b4d-a1c9-e64a1b0d665c/2b0d00e7-9215-45b6-8e61-2c3044e91b14.png]





	
	

	 
	 



	65.
	Which equation has infinitely many solutions?


	

	 
		A.
	–5 + 6.2x = 6.2x – 6




	
	

	 
		B.
	3x + 10.5 = 10.5 – 3x




	
	

	 
		C.
	–2.5x – 8 = 8 – 2.5x




	
	

	 
		D.
	–4x – 12 = –12 – 4x




	
	

	 
	 



	66.
	What is the value of x in the equation 5(3x − 4) = 2x + 7 + 4x?

	

	 
		A.
	1




	
	

	 
		B.
	3




	
	

	 
		C.
	6




	
	

	 
		D.
	13




	
	

	 
	 



	67.
	Four times a number plus fifteen is equal to two times that same number plus forty-five. What is the number?

	

	 
		A.
	5




	
	

	 
		B.
	10




	
	

	 
		C.
	15




	
	

	 
		D.
	30




	
	

	 
	 



	68.
	What is the value of x in the equation [image: /files/assess_files/09571fa9-cdfb-4c93-8f0e-97294b993f8e/d3177386-d1e7-4659-9d71-93ecd8f4d7bb.png] ?

	

	 
		A.
	
[image: /files/assess_files/639580f4-d3a4-4ca8-a020-573cf5563c5e/eab90080-0c3e-456a-9f4e-4c4da94fbd2f.png]





	
	

	 
		B.
	
[image: /files/assess_files/e8b1ca79-86df-4565-86ec-6a0cb6231fba/1ea58c0f-3ff2-46cc-993f-4cdf2f05000d.png]





	
	

	 
		C.
	
[image: /files/assess_files/3437915a-40ff-41d4-bd27-6dba716acff5/221880a5-a7a8-4cf5-8b79-4d2f008b4e9a.png]





	
	

	 
		D.
	
[image: /files/assess_files/579c504b-ac95-4573-93fb-f80288d03ff0/223d3fff-811e-491e-8b50-99b87527f880.png]





	
	

	 
	 



	69.
	What is the value of x in the equation [image: /files/assess_files/6e61eb03-1d62-4374-b570-048c4be1c9ba/9356e923-25db-436c-9d00-4a8e1e9c287d.png] = [image: /files/assess_files/6e61eb03-1d62-4374-b570-048c4be1c9ba/410077bc-1ac5-4642-9fce-9866af1bb30f.png]?

	

	 
		A.
	[image: /files/assess_files/7de38276-75ba-4e52-ae03-e291352c99b5/cf06d062-cfcf-4c2d-ad2e-cccdcf5fa056.png]




	
	

	 
		B.
	[image: /files/assess_files/4316d5e9-e0a2-47d7-9331-4507041e065b/b3f8e93d-746c-4982-8304-22f9a8dfedb3.png]




	
	

	 
		C.
	[image: /files/assess_files/f62744a1-492e-4e76-94f5-7cc1f7446e62/fea2eec1-d352-4b40-87c4-ca6b49c509e5.png]




	
	

	 
		D.
	[image: /files/assess_files/4bf50695-94cc-469f-b612-259386fbde7d/5ddd573e-161c-4355-83ee-4bde08618f4a.png]




	
	

	 
	 



	70.
	The rectangle below has a perimeter of 120 inches.


[image: /files/assess_files/d1181b8d-e1dd-4ed8-bb76-e9312b19aac3/35082.png]

 What is the measure of the width, 
x
, of the rectangle?


	

	 
		A.
	60 inches




	
	

	 
		B.
	40 inches




	
	

	 
		C.
	20 inches




	
	

	 
		D.
	10 inches




	
	

	 
	 



	71.
	What is the value of x in the equation [image: /files/assess_files/f32ffcbb-537e-4b39-a356-13aea12a81f8/b7b348f3-a1c7-4448-b51a-d481201e515c.png] ?

	

	 
		A.
	[image: /files/assess_files/bae30350-2138-49ca-90d0-c65b92e269c8/6048ec25-8317-4db9-900c-da297bdd750b.png]




	
	

	 
		B.
	[image: /files/assess_files/eeecbcf7-14ac-4ba8-a955-4325ba0169ee/e926d94d-5f60-499e-9244-65ec713c310d.png]





	
	

	 
		C.
	[image: /files/assess_files/1055ab09-65f4-4a0b-a398-e0be72b42cb2/26175c95-590b-4233-85a4-abf2ad9dbb69.png]





	
	

	 
		D.
	[image: /files/assess_files/7539596b-05c3-4e08-b05d-3cb6f06d5f91/594b75e7-2b84-4d0a-8d31-f5b870a1e7b2.png]





	
	

	 
	 



	72.
	What is the value of x in the equation –2(4x − 2) + 5 = –1?

	

	 
		A.
	[image: /files/assess_files/719883a6-21ed-461d-aa70-2c428eae4a2e/941f40d3-5aa0-4580-89ed-824a99fcc961.png]




	
	

	 
		B.
	[image: /files/assess_files/38083300-65cd-44ec-a016-e57501f8543c/fb17110b-2db7-4b3c-802b-c1f88aa2ad42.png]




	
	

	 
		C.
	[image: /files/assess_files/7844f8b3-0e49-4214-a676-8bd850fe3948/fccbefd7-eec2-4283-90ba-d0ffdab0431d.png]




	
	

	 
		D.
	[image: /files/assess_files/6637db35-249f-4106-9425-de636895f471/86ec4ffc-d2d7-48f7-807a-8c1eb49f6291.png]




	
	

	 
	 



	73.
	A 1.4-meter piece of wood is cut into two pieces. The larger piece is 0.2 meters longer than twice the length of the shorter piece. How long is the larger piece of wood?

	

	 
		A.
	0.4 m




	
	

	 
		B.
	0.6 m




	
	

	 
		C.
	1.0 m




	
	

	 
		D.
	1.2 m




	
	

	 
	 



	74.
	A group of students hiked 38 km over three days. The first day, the students hiked 1 km less than 3 times as far as they hiked the second day. The third day, they hiked 2 km less than the first day. How far did the students hike the first day?

	

	 
		A.
	6 km




	
	

	 
		B.
	10 km




	
	

	 
		C.
	17 km




	
	

	 
		D.
	18 km




	
	

	 
	 



	75.
	Three times the difference of a number x and seven is twenty-three minus the sum of three times a number x and two. What is the value of x?

	

	 
		A.
	5




	
	

	 
		B.
	7




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	76.
	What is the value of x in the equation 6(x + 5) = 3(x − 14)?

	

	 
		A.
	–1





	
	

	 
		B.
	–4





	
	

	 
		C.
	–6





	
	

	 
		D.
	–24





	
	

	 
	 



	77.
	What value of x satisfies the equation 3(x + 7) = –18?

	

	 
		A.
	–1




	
	

	 
		B.
	–4




	
	

	 
		C.
	–8




	
	

	 
		D.
	–13




	
	

	 
	 



	78.
	What is the solution to the equation shown below?


 3(x + 7) + 4 = 40 


	

	 
		A.
	5




	
	

	 
		B.
	10




	
	

	 
		C.
	15




	
	

	 
		D.
	20




	
	

	 
	 



	79.
	What is the value of x in the equation 7x + 12 = x + 24?

	

	 
		A.
	0




	
	

	 
		B.
	2




	
	

	 
		C.
	6




	
	

	 
		D.
	36




	
	

	 
	 



	80.
	What is the value of t in the equation 3(t − 4) = 2t + 1?

	

	 
		A.
	–3




	
	

	 
		B.
	–2




	
	

	 
		C.
	5




	
	

	 
		D.
	13




	
	

	 
	 



	81.
	Twice a number m is 32 less than 6 times m. What is the value of m?

	

	 
		A.
	–8





	
	

	 
		B.
	–4





	
	

	 
		C.
	4




	
	

	 
		D.
	8




	
	

	 
	 



	82.
	Which equation below has infinitely many solutions?

	

	 
		A.
	
[image: /files/assess_files/f8812b5e-c1d2-42ca-b568-595b3bf462c7/5408fa3b-004e-449b-b328-4669c2568590.png]





	
	

	 
		B.
	
[image: /files/assess_files/bdcb8330-7cf6-4a38-b0c5-7171dcd559a8/8ccc3002-6991-4639-bd1f-3525e5082df4.png]





	
	

	 
		C.
	
[image: /files/assess_files/fab852fb-ffb9-4991-9a48-772ab1069fa5/ff1cd778-a3ed-4633-959c-6fe72ee5fb85.png]





	
	

	 
		D.
	
[image: /files/assess_files/5bec98d7-7e51-4ccb-99ae-64811ade0d02/8795c460-d063-4ba9-9cc7-d7a2a784740c.png]





	
	

	 
	 



	83.
	A 16-foot piece of wood was cut into two pieces. The longer piece of wood is 3 feet less than twice the shorter piece. What is the length of the longer piece of wood?

	

	 
		A.
	[image: /files/assess_files/5fb69fee-9221-4c1d-b321-249d2c357daa/c5a287ba-db2f-4037-b971-9bcd5bc96b1d.png] feet




	
	

	 
		B.
	[image: /files/assess_files/b55d519a-1d22-4cfe-bd0e-5a4814d77c76/3e1f7283-7907-4358-81ca-0d3999f957ff.png] feet




	
	

	 
		C.
	[image: /files/assess_files/453e7acc-e90a-4a08-a72d-b584b33b6117/0be4d75f-8be6-4621-8d9f-d7e7249437ba.png] feet




	
	

	 
		D.
	[image: /files/assess_files/9721f958-7e87-410b-90d3-97c81597a109/aba68fb2-835a-4b7c-a88d-c88726db4da7.png] feet




	
	

	 
	 



	84.
	Jan is 5 years older than Tom. In 3 years, Tom will be [image: /files/assess_files/f0d64ef4-e962-4e82-ae88-9b77bada61ff/09ec7cf2-189f-4011-9e6b-e72034d45f73.png] as old as Jan. What is Tom’s age now?

	

	 
		A.
	10 years old




	
	

	 
		B.
	12 years old




	
	

	 
		C.
	17 years old




	
	

	 
		D.
	25 years old




	
	

	 
	 



	85.
	José’s age is 2 more than 3 times Maria’s age. The sum of their ages is 38. How old is Maria?

	

	 
		A.
	9




	
	

	 
		B.
	10




	
	

	 
		C.
	13




	
	

	 
		D.
	14




	
	

	 
	 



	86.
	What is the solution to the equation –2(6x + 8) + 7x = 3x – 2(12 + 4x)?

	

	 
		A.
	infinitely many solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	x = 2




	
	

	 
		D.
	x = 3




	
	

	 
	 



	87.
	What is the value of x in the equation 3(x + 4) + 3 = 9?

	

	 
		A.
	–2





	
	

	 
		B.
	–1





	
	

	 
		C.
	5




	
	

	 
		D.
	8




	
	

	 
	 



	88.
	What is the solution to the equation 2(3x + 1) + 2x = 8x + 1?

	

	 
		A.
	1




	
	

	 
		B.
	2




	
	

	 
		C.
	no solution




	
	

	 
		D.
	all real numbers




	
	

	 
	 



	89.
	Ricky is building a rectangular fence. Two sides of the fence have lengths of 28 feet each. Ricky only has 100 feet of fencing. What is the greatest length of each of the remaining two sides?

	

	 
		A.
	22 feet




	
	

	 
		B.
	44 feet




	
	

	 
		C.
	56 feet




	
	

	 
		D.
	72 feet




	
	

	 
	 



	90.
	What is the value of p in the equation 2(p – 5) = 2(10 + 2p)?

	

	 
		A.
	15




	
	

	 
		B.
	5




	
	

	 
		C.
	–5




	
	

	 
		D.
	–15




	
	

	 
	 



	91.
	The lengths of the sides of a triangle are 2x + 5, x − 3, and 3x + 1. The perimeter of the triangle is 39 in. What are the lengths of the sides?

	

	 
		A.
	11 in., 3 in., and 7 in.




	
	

	 
		B.
	15 in., 2 in., and 16 in.




	
	

	 
		C.
	17 in., 3 in., and 19 in.




	
	

	 
		D.
	19 in., 4 in., and 22 in.




	
	

	 
	 



	92.
	Bob works as a plumber. He charges $45.00 for the first hour and $33.75 for each additional hour. Bob was paid $247.50 for his last job. How many hours did Bob work on his last job?

	

	 
		A.
	3




	
	

	 
		B.
	4




	
	

	 
		C.
	6




	
	

	 
		D.
	7




	
	

	 
	 



	93.
	What is the value of x in the equation 13x – 2(6x − 4) = 72?

	

	 
		A.
	64




	
	

	 
		B.
	68




	
	

	 
		C.
	76




	
	

	 
		D.
	80




	
	

	 
	 



	94.
	The area of the parallelogram below is 184 units2. 


[image: /files/assess_files/1ed36203-cb1b-4334-bddf-3c1d03c5b989/24233.png]

 What is the perimeter of the parallelogram? 


	

	 
		A.
	23 cm




	
	

	 
		B.
	33 cm




	
	

	 
		C.
	41 cm




	
	

	 
		D.
	66 cm




	
	

	 
	 



	95.
	A hexagon has two sides that are equal. The two equal sides are 2 inches longer than each of the four other sides. The perimeter of the hexagon is 22 inches. What is the measure of one of the shorter sides?

	

	 
		A.
	2 inches




	
	

	 
		B.
	3 inches




	
	

	 
		C.
	4 inches




	
	

	 
		D.
	5 inches




	
	

	 
	 



	96.
	What is the value of x in the equation [image: /files/assess_files/2332787f-3b78-44a1-8fbc-1a5e51eab5d8/41284245-64a5-4830-b4bc-4e2988b030f6.png]?

	

	 
		A.
	[image: /files/assess_files/a686ddef-7d96-4aae-91e1-afafd1ae225b/307a9518-407a-49ed-b4ab-e391d199fe14.png]





	
	

	 
		B.
	[image: /files/assess_files/1e3d004e-3852-4029-8f9b-4a56ff7fbd53/8fa001e6-fe64-457f-bd62-f90b42130253.png]





	
	

	 
		C.
	[image: /files/assess_files/7c1fd5ea-c98e-4a4f-9db7-775ded750596/eaf44c56-8044-4cfd-82e3-5a0af2926950.png]





	
	

	 
		D.
	[image: /files/assess_files/b570b8b5-0867-466f-9f27-33449cfb1ea0/70d79a2e-4c21-4cd5-ba7d-1764346a9fd7.png]





	
	

	 
	 



	97.
	What is the value of x in the equation [image: /files/assess_files/8b89d365-5de8-42dd-b3e0-1e72121d920c/ef02dcf7-a36f-457b-bde2-7ee9102110e0.png] ?

	

	 
		A.
	
[image: /files/assess_files/716331a3-a808-475d-8aef-10cb88386648/cd4c89db-c8e9-40dd-a892-5b02406c891c.png]





	
	

	 
		B.
	
[image: /files/assess_files/07465526-601d-4f6f-a795-323493be9f9a/bd13a4a0-71b5-44b5-ba8a-55679a724ca0.png]





	
	

	 
		C.
	
[image: /files/assess_files/a9d03d39-0d2f-4ffe-b23e-073648447f0d/bb926a3d-c4b9-4550-9052-ed85ca6ad067.png]





	
	

	 
		D.
	
[image: /files/assess_files/f93adfc9-55e1-4c82-9c9e-f335fcc2f530/3099e002-6644-4045-b737-40574495e7e5.png]





	
	

	 
	 



	98.
	What is the value of x in the equation 2(4 + 3x) + 6 = 32?

	

	 
		A.
	3




	
	

	 
		B.
	6




	
	

	 
		C.
	7




	
	

	 
		D.
	8




	
	

	 
	 



	99.
	What is the value of x in the equation 3x − 1 = 2(x − 3)?

	

	 
		A.
	–7




	
	

	 
		B.
	–5




	
	

	 
		C.
	–3




	
	

	 
		D.
	–2




	
	

	 
	 



	100.
	What is the solution to the equation [image: /files/assess_files/3ddf021b-9454-4bef-add6-15b91e35dda7/c5f7de4b-e292-47dc-9a93-9dfa1c1f3569.png]?

	

	 
		A.
	x = 3




	
	

	 
		B.
	x = 4




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	101.
	What is the value of y in the equation [image: /files/assess_files/5de367f8-ecd4-43e0-83c3-e5bf4839fc45/ce2e97a6-e2b5-4356-abd4-f9286dab8ed2.png] ?

	

	 
		A.
	[image: /files/assess_files/74a2cdda-8cc3-44ab-bf88-74f18208fe4f/217572a4-ecb1-4de8-afaf-54c222d99882.png]





	
	

	 
		B.
	[image: /files/assess_files/7a79761e-4825-4301-9cf6-24ac9ec25aff/9704d6fe-0d10-4ee3-a183-43fac2a9fb18.png]




	
	

	 
		C.
	[image: /files/assess_files/54022abd-bfea-492c-9ebe-27ba3b307934/1e29fc96-3316-4427-ae46-2b8467d68417.png]




	
	

	 
		D.
	[image: /files/assess_files/7f954602-e2e1-417f-95b5-b897411e8d53/4edd1b28-1558-4fed-83ad-942650971300.png]





	
	

	 
	 



	102.
	The sum of three consecutive integers is 87. What is largest value of the three integers?

	

	 
		A.
	28




	
	

	 
		B.
	29




	
	

	 
		C.
	30




	
	

	 
		D.
	31




	
	

	 
	 



	103.
	The cost of production for boxes of markers is $500.00 to set up equipment plus $0.35 per box for materials. A box of markers sells for $2.85. How many boxes of markers must be sold for the company’s income to equal the cost of production?

	

	 
		A.
	150




	
	

	 
		B.
	175




	
	

	 
		C.
	200




	
	

	 
		D.
	250




	
	

	 
	 



	104.
	Phone Company 1 charges a flat rate of $25.00 a month for local calling, and $0.05 per minute for each long distance call. Phone Company 2 charges a flat rate of $20.00 a month for local calling, and $0.10 per minute for long distance calling. After how many minutes of long distance calling do the phone companies charge an equal amount?

	

	 
		A.
	50 minutes




	
	

	 
		B.
	100 minutes




	
	

	 
		C.
	200 minutes




	
	

	 
		D.
	300 minutes




	
	

	 
	 



	105.
	The perimeter of the rectangle below is 28 ft. 


[image: /files/assess_files/1ed36203-cb1b-4334-bddf-3c1d03c5b989/27329.png]


What is the value of x?


	

	 
		A.
	7




	
	

	 
		B.
	9




	
	

	 
		C.
	18




	
	

	 
		D.
	20




	
	

	 
	 



	106.
	Jill is an electrician. Her charges per hour are listed in the table below. 


	Hours
	Charge per hour


	
 First hour


	$65

	
 Second hour


	$55

	
 Each additional hour or part thereof


	$45



 Jill earned $322.50 for electrical work. How many hours did Jill work?

	

	 
		A.
	4.5




	
	

	 
		B.
	5




	
	

	 
		C.
	6.5




	
	

	 
		D.
	7




	
	

	 
	 



	107.
	Three consecutive odd integers have a sum of 111. What is the smallest of the three integers?

	

	 
		A.
	33




	
	

	 
		B.
	35




	
	

	 
		C.
	37




	
	

	 
		D.
	39




	
	

	 
	 



	108.
	Which statement is true about the equation shown below?


3x – 2(6x – 1) = 10 – 4x + 8 – 5x


	

	 
		A.
	The equation has no solution.




	
	

	 
		B.
	The only solution to the equation is x = 0.




	
	

	 
		C.
	The only solution to the equation is x = –2.




	
	

	 
		D.
	The equation has infinite solutions.




	
	

	 
	 



	109.
	What is the value of x in the equation below?


 2x + 0.5(6x – 4) = 3.5x + 0.25(2x – 16)



	

	 
		A.
	12




	
	

	 
		B.
	2




	
	

	 
		C.
	–2




	
	

	 
		D.
	–12





	
	

	 
	 



	110.
	What is the solution to the equation 8(x – 1) + 3x = 7 + 11x?

	

	 
		A.
	infinitely many solutions




	
	

	 
		B.
	no solution




	
	

	 
		C.
	0




	
	

	 
		D.
	15




	
	

	 
	 



	111.
	Which choice best represents the solution(s) to the equation below?


7(x – 4) = 2(x – 14) + 5x


	

	 
		A.
	–10





	
	

	 
		B.
	0




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	112.
	What is the value of x in the equation 8x + 12 = 4x – 8?

	

	 
		A.
	[image: /files/assess_files/cded4f05-5299-4a06-9c6a-16010a745a81/c40e27ba-c91a-4a66-ba9c-91736b7d6494.png]




	
	

	 
		B.
	[image: /files/assess_files/9ed7f61f-2be2-4691-a52b-d2fd8ece5bd4/d35eee50-7470-442f-a0a3-ef3f1eab673f.png]




	
	

	 
		C.
	[image: /files/assess_files/4e53e8d9-b4fb-4375-8edd-e2744c0970ea/d52a1970-6800-4d2b-94a1-aea81ee7c811.png]




	
	

	 
		D.
	[image: /files/assess_files/11525cb3-33e7-4184-a81f-a6ff4e14a7c2/98ee456e-8e58-45a6-8343-d947a1c62d1d.png]




	
	

	 
	 



	113.
	If [image: /files/assess_files/d8c3fe3a-17e0-4f31-9565-dac1c76ee8b9/c73a4f98-9784-403a-b328-f0f351502fb1.png], what is the value of x?

	

	 
		A.
	[image: /files/assess_files/604cf3bf-7514-4fff-98d7-5e5c36830a66/d656f181-9500-4aaa-bec5-c55e7f9a30e9.png]




	
	

	 
		B.
	[image: /files/assess_files/bc30d420-bd83-4d09-855b-6b8a97841261/9401ee5c-38f6-4019-aeda-3f8ffa0a93e4.png]




	
	

	 
		C.
	[image: /files/assess_files/581fcf1e-aa18-4d7a-be1b-e1f2a18ff049/ca05454a-b995-468c-a596-fc29746be58c.png]




	
	

	 
		D.
	[image: /files/assess_files/f65c2a2c-87e2-4ff6-9b18-fb5772ebd91d/41e7743c-93b2-4f11-b8ad-6bbd0a170dcb.png]




	
	

	 
	 



	114.
	Which statement is true about the equation shown below?


[image: /files/assess_files/cce4c8a2-f727-40b3-8dd9-777cb503bb63/133d2409-bfc2-4d2c-8e43-d540fb113cac.png]


	

	 
		A.
	The equation has infinite solutions.




	
	

	 
		B.
	The equation has no solutions.




	
	

	 
		C.
	The only solution to the equation is x = 0.




	
	

	 
		D.
	The only solution to the equation is x = 12.




	
	

	 
	 



	115.
	Three times a number plus two is equal to two times that same number plus 23. Find that number.

	

	 
		A.
	65




	
	

	 
		B.
	42




	
	

	 
		C.
	21




	
	

	 
		D.
	17




	
	

	 
	 



	116.
	Which statement is true about the equation shown below?


 6x + 4 – 2x = 4(x + 4)


	

	 
		A.
	The only solution to the equation is x = –5.




	
	

	 
		B.
	The only solution to the equation is x = 0.




	
	

	 
		C.
	The equation has no solution.




	
	

	 
		D.
	The equation has infinite solutions.




	
	

	 
	 



	117.
	What is the solution to the equation below?


[image: /files/assess_files/4d714798-a7c6-4b7e-9165-e34f951e3ea7/c0fac85f-ecbb-4b4b-a7d2-9cdc435befe9.png](9x – 12) + 2(5x – 1) = [image: /files/assess_files/4d714798-a7c6-4b7e-9165-e34f951e3ea7/74bc5239-794c-4fea-8c65-1aff53852cbb.png](8x + 12) – 3(2x + 3)



	

	 
		A.
	0




	
	

	 
		B.
	1




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	118.
	What is the value of x in the equation shown below?


[image: /files/assess_files/092620f0-91c5-4511-9e45-8d0b7485cef8/0a56383f-2fb8-42d9-907d-11d590b35224.png]


	

	 
		A.
	3




	
	

	 
		B.
	6




	
	

	 
		C.
	10




	
	

	 
		D.
	12




	
	

	 
	 



	119.
	What is the solution to the inequality x + 4 + 2x ≤ 20 + 5x – 32?

	

	 
		A.
	x ≥ –8




	
	

	 
		B.
	x ≤ –8




	
	

	 
		C.
	x ≥ 8




	
	

	 
		D.
	x ≤ 8




	
	

	 
	 



	120.
	The sum of triple a number, n, and 8 is equal to 10 less than the number, n. What is the value of n?

	

	 
		A.
	[image: /files/assess_files/b8b4993f-f91b-4a5b-83e5-717c6a7331fc/65803cbe-7479-4801-b15b-915c88cadb02.png]




	
	

	 
		B.
	[image: /files/assess_files/8b68c4ff-6911-459d-9498-4f55df456e65/92c77804-1c13-49ab-928f-b27bb098bb4f.png]




	
	

	 
		C.
	[image: /files/assess_files/47ea78ad-ab92-48e1-b39e-1ca7cdc3c147/5d98ad51-4fbe-4fb1-b121-dfff13337e34.png]




	
	

	 
		D.
	[image: /files/assess_files/38755355-dd33-4fda-8fcf-35d19bf76296/c9c056d2-70e3-436d-bb08-9976a4f440d0.png]




	
	

	 
	 



	121.
	What is the solution to the equation below?


[image: /files/assess_files/6be4c9e8-a9d1-4844-ab8c-616cd9d2eb7b/208ed731-6c20-409e-b7d1-857c9384a8cb.png]


	

	 
		A.
	[image: /files/assess_files/ebd73778-c22e-4b1d-b7fd-c3a25f43d553/e22a2b32-418c-4228-90e9-a41bd923cf02.png]




	
	

	 
		B.
	[image: /files/assess_files/cca689c4-1a68-4657-9809-cf767ca3edc6/be071f6d-7fdf-475e-8bc4-cc7483e9aeb4.png]




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinitely many solutions




	
	

	 
	 



	122.
	What is the solution to the equation [image: /files/assess_files/2c4578fa-301b-4170-826c-39132be3a59e/ec83bc7f-be8f-4b13-a456-0375e102b433.png]?

	

	 
		A.
	[image: /files/assess_files/b9bd808b-315c-4a1e-b3b5-e645a191c85d/4eae59cd-bd62-4e1d-9595-cd001a27c0a4.png]




	
	

	 
		B.
	[image: /files/assess_files/b1f9dcff-6bb2-442f-aad9-91a6e85a984c/209c3ffd-6fb2-4380-b1d9-7ac9eeffe9a4.png]





	
	

	 
		C.
	[image: /files/assess_files/0e75a205-4d33-4796-ac6e-4e1b7dcb9913/d579de2d-76b8-4238-aa0e-52ec33736579.png]





	
	

	 
		D.
	[image: /files/assess_files/e7bdfa9e-fe41-421a-8f2e-9d5c751265a0/f37c9353-6a95-42c6-85d0-4e1649b90149.png]




	
	

	 
	 



	123.
	What is the solution to the equation shown below?


5(3x + 6) – (7x + 10) = –2x + 10


	

	 
		A.
	 –3




	
	

	 
		B.
	–1




	
	

	 
		C.
	1




	
	

	 
		D.
	3




	
	

	 
	 



	124.
	What is the value of x in the equation [image: /files/assess_files/3a9b3d3c-8abc-4024-835c-59f4ecd1b0a4/7d8ab1d2-4e01-4135-8098-a64b5296d7d3.png]?

	

	 
		A.
	[image: /files/assess_files/dc5b16fb-3063-437f-b97c-bd67532997f4/4dc3df48-83cc-408b-a599-2730e488f10e.png]




	
	

	 
		B.
	[image: /files/assess_files/ce620a05-d4d4-4f53-b243-e58ed400c7c8/c4fe2c20-0317-4a3d-91bc-b6a367148a71.png]




	
	

	 
		C.
	[image: /files/assess_files/328cd5cb-3816-444d-bdf5-a9bbb883cfe9/487d3618-6337-47c1-b031-a45fe0da5a57.png]




	
	

	 
		D.
	[image: /files/assess_files/8637cdad-8a1f-479c-827d-802b19594f00/8507ad8c-425b-4f41-a5f0-ea1bc40efdf9.png]




	
	

	 
	 



	125.
	What is the value of x in the equation shown below?


5x + 7(2 + x) = 6 – 3(2 – x)


	

	 
		A.
	[image: /files/assess_files/ee4478f2-d442-4963-9e7a-b48c9623ce90/9c9eddab-e97b-4b00-9a4b-0451ab0a32f1.png]





	
	

	 
		B.
	[image: /files/assess_files/34a8c697-9126-4214-957c-6d9c92834d11/1f6152aa-dd0d-44f5-ab30-5b52b8ddd73f.png]




	
	

	 
		C.
	[image: /files/assess_files/c6e68915-37f0-4cca-b00a-c3fd1e903425/63c3901b-2e26-4fc1-abd3-88809e4882e8.png]




	
	

	 
		D.
	[image: /files/assess_files/61c7a824-c7e8-4d11-abfc-0b26e04c3763/bd525685-f075-4930-9a7e-28ae806e1963.png]




	
	

	 
	 



	126.
	Which equation has infinitely many solutions?

	

	 
		A.
	2(3y – 5) = 10y – 4




	
	

	 
		B.
	3(4y – 5) = 12y – 15




	
	

	 
		C.
	4(5y + 2) = 20y – 6




	
	

	 
		D.
	6(2y + 3) = 17y – 7




	
	

	 
	 



	127.
	What is the value of x in the equation below?


 2.8x – 4 = 0.5(1.4x + 2) + 1.3


	

	 
		A.
	–3




	
	

	 
		B.
	3




	
	

	 
		C.
	no solution




	
	

	 
		D.
	infinite solutions




	
	

	 
	 



	128.
	What is the solution to the equation below?
  

 6x + [image: /files/assess_files/0d52e28a-6c22-4237-aace-483c0b13900d/7dd5c846-e302-40e7-9e46-0d1e9d951bbb.png](12x – 8) = 3x – 31



	

	 
		A.
	–1.8




	
	

	 
		B.
	–2.3




	
	

	 
		C.
	–2.6




	
	

	 
		D.
	–3.0




	
	

	 
	 



	129.
	Which set of equations represents the solution to [image: /files/assess_files/977445d1-f73d-4195-820f-c8da2a61a378/image/0225df77-b89b-4475-8a71-a74bac5afaa0.gif]

	

	 
		A.
	  2x−6=14
  2x=8
  x=4




	
	

	 
		B.
	  2x−6=14
  2x=20
  x=10




	
	

	 
		C.
	  2x−6=14
  2x=8
  x=16




	
	

	 
		D.
	  2x−6=14
  2x=20
  x=40




	
	

	 
	 



	130.
	Solve. – 5x – 3 + 4x + 1 = – 4  

	

	 
		A.
	  x = 6




	
	

	 
		B.
	  x = 2




	
	

	 
		C.
	  x = − 6




	
	

	 
		D.
	  x = – 2




	
	

	 
	 



	131.
	What is the solution to the equation [image: /files/assess_files/8142540a-bf69-490c-b36f-ba382d039596/image/5ec3f72d-94c2-4d1d-bcc1-81bdec0f06be.gif]?

	

	 
		A.
	   x = 0




	
	

	 
		B.
	   x = 10




	
	

	 
		C.
	   x = 15




	
	

	 
		D.
	   x = 25




	
	

	 
	 



	132.
	Which equation represents the solution to
[image: /files/assess_files/c7d121a8-1bfa-4a3a-9c11-c0f6979b9277/image/660e9aef-a5b0-49b5-b8c9-43989c334cb2.gif]?

	

	 
		A.
	  x = 8




	
	

	 
		B.
	  x = 6




	
	

	 
		C.
	  x = 2




	
	

	 
		D.
	  x = 0




	
	

	 
	 



	133.
	A student solved an equation for the unknown value of n as 0 =0.  Which set represents all of the possible values of n?

	

	 
		A.
	  only zero can be the solution




	
	

	 
		B.
	  only positive numbers can be the solution




	
	

	 
		C.
	  only negative numbers can be the solution




	
	

	 
		D.
	  any number can be the solution




	
	

	 
	 



	134.
	How many solutions does the equation 4r + 8 = 8 + 4r have?

	

	 
		A.
	  no solutions




	
	

	 
		B.
	  one unique solution




	
	

	 
		C.
	  two unique solutions




	
	

	 
		D.
	  infinitely many solutions




	
	

	 
	 



	135.
	Which equation has no solution?

	

	 
		A.
	  4x − 9 = − 9




	
	

	 
		B.
	  3x + 2 = 17




	
	

	 
		C.
	  2x + 4 =2x + 6




	
	

	 
		D.
	  x + 3x = 8x − 4x




	
	

	 
	 



	136.
	Solve the equation[image: /files/assess_files/70d1e80a-b63e-4172-bd12-243dc1b5615f/image/6db81f03-c9bf-436c-b738-89103f9d068b.gif] for x.

	

	 
		A.
	[image: /files/assess_files/89b073fc-248c-423f-b32e-e5d7426d7a16/image/119cb527-d021-41fa-8403-22abefd772c4.gif]




	
	

	 
		B.
	x = 3




	
	

	 
		C.
	[image: /files/assess_files/c3359917-cfd0-4a55-bdd2-2b051b881d21/image/c005a97f-7865-4afc-b87f-ec051e482c2d.gif]




	
	

	 
		D.
	x = 5




	
	

	 
	 



	137.
	Solve the equation 2(3x − 4) = 8x − 4 − 2x.

	

	 
		A.
	  no solution




	
	

	 
		B.
	  infinitely many solutions




	
	

	 
		C.
	  x = –1




	
	

	 
		D.
	  x = 4




	
	

	 
	 



	138.
	Solve the equation below for y.
 
[image: /files/assess_files/3a876cde-675a-4827-ae81-eb53a0959219/images/fd3cb82bcc97cd9f1ca6ddfc27c21636.png]


	

	 
		A.
	[image: /files/assess_files/18251b4d-89ee-4d57-be52-077089d355ea/images/4f5ea162f10c207af929567f7d120407.png]





	
	

	 
		B.
	[image: /files/assess_files/0623e61e-736f-41d0-85bd-6eab32930a44/images/3b3813c4de79406fb535cbea674a8728.png]





	
	

	 
		C.
	[image: /files/assess_files/8ca5f3ff-a1eb-4bef-b205-90af3e4be553/images/5c7aec40aabe70ac16ed8cda69e4ec2d.png]





	
	

	 
		D.
	[image: /files/assess_files/5b795230-872b-4992-a10f-0a4b85c13767/images/b98459b007754f7c19c16988b4c3b80c.png]





	
	

	 
	 



	139.
	Which statement correctly describes the solution(s) of the equation below?
 
[image: /files/assess_files/680eaac9-83b0-4f3e-92c3-213a2ea6b29a/images/94bedc68284e558422983e0eed30e6d3.png]


	

	 
		A.
	The equation has one solution, which is [image: /files/assess_files/32dac3b2-0f0a-43a0-ac5f-b3f7fbd2e326/images/9490bbb2ba58ee659a074b8ed57c3221.png]




	
	

	 
		B.
	The equation has one solution, which is [image: /files/assess_files/2ceedfb5-4672-4ed3-91d7-5523f9d9df29/images/6976c2e031a1c0ba32f1739d9ada63f1.png]




	
	

	 
		C.
	The equation has infinitely many solutions.




	
	

	 
		D.
	The equation has no solution.




	
	

	 
	 



	140.
	What is the solution to the equation shown below?


[image: /files/assess_files/821afd82-8697-4bb4-89f7-8713a452a3ef/images/2ffa9a41a8683290bbbdd7322c61f9b4.png]


	

	 
		A.
	[image: /files/assess_files/3105c8bf-97c5-4cd7-bd90-62cc9e7dc6bc/images/ef5d1b2b6c096c1e969c3a0ebc1e0231.png]




	
	

	 
		B.
	[image: /files/assess_files/b55b81ef-fbf8-4d1b-9ca8-ef556921103d/images/8b5e96d70ba40af7bd3e3cbf2e29c58d.png]




	
	

	 
		C.
	[image: /files/assess_files/ba9214d1-8a46-4939-9575-24dc0a190f46/images/4a88769bb75f93e80d0575ed07698ee3_1.png]




	
	

	 
		D.
	[image: /files/assess_files/a3fb3437-283f-43f4-aba1-c71f3da7a896/images/e3cd95d75d55053a5c7b8cb82085b4b1.png]




	
	

	 
	 



	141.
	What is the solution of the equation [image: /files/assess_files/049435e0-285e-4f0b-8fb6-e0560b45acef/images/447d30f8ac100de49ff90c1c7c2a64eb.png]


	

	 
		A.
	1.25




	
	

	 
		B.
	2.50





	
	

	 
		C.
	4.25




	
	

	 
		D.
	8.50




	
	

	 
	 



	142.
	Which value of x satisfies the equation [image: /files/assess_files/ee3c7cf3-3712-44d8-aab5-4c4da25683a6/images/d41f906ebcea350b8d05888377b800bd.png]



	

	 
		A.
	[image: /files/assess_files/715ffead-4320-4120-925b-aa1abe7d7e6e/images/4a88769bb75f93e80d0575ed07698ee3.png]




	
	

	 
		B.
	[image: /files/assess_files/2752aac8-f10f-4921-a17d-03ace739dea4/images/a7d0bfa8bc54faf0be58a6ef6706c9a0.png]




	
	

	 
		C.
	[image: /files/assess_files/0ee14b15-796e-4e99-b58a-4ac35a23e6a7/images/c9527d303a7860d2db7f9f9d78282153.png]




	
	

	 
		D.
	[image: /files/assess_files/3c3245de-425b-4310-84ca-34cb9da337b7/images/083688d390bf5de3423d034c26787fa3.png]




	
	

	 
	 



	143.
	How many solutions does the equation [image: /files/assess_files/246b72b3-4e46-4460-a28e-022ded7ac408/images/dcf0aa2031adf5c104708fa5d1161a24.png] have?


	

	 
		A.
	no solution





	
	

	 
		B.
	one solution





	
	

	 
		C.
	two solutions





	
	

	 
		D.
	infinitely many solutions





	
	

	 
	 



	144.
	What is the solution to the equation [image: /files/assess_files/64d3e7f4-bfa0-441e-b183-aee556444997/images/5beeea22e4cc026a6cb2b1c8346ad32d.png] rounded to the nearest tenth?



	

	 
		A.
	4.6




	
	

	 
		B.
	5.8




	
	

	 
		C.
	10.2




	
	

	 
		D.
	16.4




	
	

	 
	 



	145.
	How many solutions does the equation  [image: /files/assess_files/95d80c76-0b5c-4dd3-9858-01aa035af4a4/images/0fbc84c276b1569a4cdb8eac12de272c.png] have?


	

	 
		A.
	no solutions





	
	

	 
		B.
	one solution





	
	

	 
		C.
	two solutions





	
	

	 
		D.
	infinite solutions





	
	

	 
	 



	146.
	How many solutions does the equation [image: /files/assess_files/42e2b9af-d802-4f6f-aa16-9781072433ee/images/c46dd60c6659f2e86221c20ff310981d.png] have?


	

	 
		A.
	no solution





	
	

	 
		B.
	one solution





	
	

	 
		C.
	two solutions





	
	

	 
		D.
	infinitely many solutions





	
	

	 
	 



	147.
	Which equation has no solution?


	

	 
		A.
	[image: /files/assess_files/18402754-3dfd-431a-bbdd-eef88a308ad9/images/51eb86d08f5ee998583c018b322f6cc8.png]




	
	

	 
		B.
	[image: /files/assess_files/d88a4864-979b-4693-860f-b8404c6b333b/images/195f3018b97b36cb5a3e2385b53ed28b.png]




	
	

	 
		C.
	[image: /files/assess_files/36842420-8ba3-4076-9fde-b2b93fb9d226/images/a5836c3a3d0390e3b5361863398d9087.png]




	
	

	 
		D.
	[image: /files/assess_files/7f3d1c10-27f3-4b88-b890-6000ba19ea79/images/d542241014ce2a51058dfb2bb2a3f28e.png]




	
	

	 
	 



	148.
	What is the value of x in the equation [image: /files/assess_files/5f75d680-5728-40cd-a1aa-2603f616e4b5/images/8a19838c2eaef54e5bc09d153ec87115.png]


	

	 
		A.
	27




	
	

	 
		B.
	15




	
	

	 
		C.
	7




	
	

	 
		D.
	3




	
	

	 
	 



	149.
	Solve for x.
 
[image: /files/assess_files/f09fb14c-aa2d-47d7-9897-fe5385e8e653/images/80f25eed170f15dc5503b6da00d4c757.png]


	

	 
		A.
	[image: /files/assess_files/27cab901-147c-4d70-bcce-d7d8b06c87e3/images/ab547622e37409cfa53c694e367d2086.png]




	
	

	 
		B.
	[image: /files/assess_files/6d9a7172-5ef1-4ba3-9283-7600490b0981/images/5a89dc0479f75750554ee222b508d7c2.png]




	
	

	 
		C.
	[image: /files/assess_files/80929cc5-dcf5-4973-bdbc-98aa699c2856/images/40048cdf9e649d004ecfbb014a29148a.png]




	
	

	 
		D.
	[image: /files/assess_files/70461048-d0b1-4628-a0ea-612f6979776b/images/2433b88ed9f52cf92ffc8264e2ba6e0d.png]




	
	

	 
	 



	150.
	Which equation has infinitely many solutions?


	

	 
		A.
	[image: /files/assess_files/2096ac9c-e44c-4a5b-89ef-7c81a871a351/images/5d42313bc740b71f131a10bdc74235b9.png]




	
	

	 
		B.
	[image: /files/assess_files/292b870b-9e80-4f59-a01a-13c0be9a1df1/images/a639ca56a384197756f8ee270dd92a9d.png]




	
	

	 
		C.
	[image: /files/assess_files/a26fdcb1-7c28-4194-8d46-1fe8e9339fb9/images/fd6324f39e2ade05bd9199af63e59a99.png]




	
	

	 
		D.
	[image: /files/assess_files/927be425-2fb1-4ab3-83cd-8b99cdc60c7e/images/38e10d6c7d6ea35f87d728f72243e79d.png]




	
	

	 
	 



	151.
	Which of these equations does NOT have any solutions?


	

	 
		A.
	[image: /files/assess_files/c1107c40-a800-4dc7-9ec7-c7859a61640a/images/0fe8f5e7caa2f4667ccad503713d4bcf.png]




	
	

	 
		B.
	[image: /files/assess_files/c52d1753-27ea-4436-9c2f-afcc4709a0dd/images/773087753aa5a006adc728ba78c8b4ef.png]




	
	

	 
		C.
	[image: /files/assess_files/e2be80c9-7e05-4749-9981-4d250849b8aa/images/0afbf9b605323edd7d5c7aaf64214525.png]




	
	

	 
		D.
	[image: /files/assess_files/5dea392c-5a3e-41d7-bb6e-f2609d598fa9/images/3dc998a042161b437c1fc90741fe594c.png]




	
	

	 
	 



	152.
	Which equation has an infinite number of solutions?


	

	 
		A.
	[image: /files/assess_files/c2563968-57d1-45af-8d1c-703ff7a2e639/images/e96cebee7df54af60e617892b2c1a804.png]




	
	

	 
		B.
	[image: /files/assess_files/0e4e1078-4596-4248-b315-894a8bd9dc04/images/4f99c05a81299fad71624c373ac229ba.png]




	
	

	 
		C.
	[image: /files/assess_files/9e4ac3de-a6b3-4378-acd7-a8eb8e1fd551/images/0eceb46f75ade8f8b7fda63d465c6682.png]




	
	

	 
		D.
	[image: /files/assess_files/4356e3ea-0357-45c5-9ebb-0ad33117aa7b/images/5f6b07e63baa3d2c400860a06fdf515e.png]




	
	

	 
	 



	153.
	Which value of x satisfies the equation [image: /files/assess_files/dd053f5a-9e63-43ef-bfd8-5c216d6053c1/images/ec597a264984bcdf04d1032cdea97f67.png]


	

	 
		A.
	[image: /files/assess_files/909a7865-116f-491f-a8f6-766876b004e5/images/bb3a22234dd3169b33a8988cab31ee18.png]




	
	

	 
		B.
	[image: /files/assess_files/cd863591-4f03-483a-a511-fb8470147c87/images/9af104b041b302eadcfa9ce5645bd79e.png]




	
	

	 
		C.
	[image: /files/assess_files/24f935f4-af41-4419-9d00-26c2ce0d3c3f/images/4f9c01c8f2bae71ca663d774b4e66f77.png]




	
	

	 
		D.
	[image: /files/assess_files/4b24ddfc-ec97-4119-89b6-63e299d225c0/images/a8a9858432a7a54a3c875a1d31b0752d.png]




	
	

	 
	 



	154.
	What value of x makes the equation below true?
[image: /files/assess_files/f658a7ef-5b8a-49da-af31-699e8526edb2/images/b8583690637c88c1d6e5ee30648040bd.png]


	

	 
		A.
	[image: /files/assess_files/a69f9f27-e78b-439c-8af7-f60c688a6edf/images/72298e4ab16fac8a6a572e866758b02b.png]




	
	

	 
		B.
	[image: /files/assess_files/5c508cc7-e007-4e1d-a3b0-9e1b4e1e9a8f/images/642b485f31976779e0333a0254030ddc.png]




	
	

	 
		C.
	[image: /files/assess_files/335cf473-5286-4250-8da6-4858aabfcdc5/images/13279913482631cbcb62a7e1fa166364.png]




	
	

	 
		D.
	[image: /files/assess_files/2ceba324-d4e7-47c4-8c23-a5b492e61b50/images/2433b88ed9f52cf92ffc8264e2ba6e0d.png]




	
	

	 
	 



	155.
	What is the solution to the equation [image: /files/assess_files/a4514a20-f38a-44b1-a145-0c5594651967/images/f25edbd037665069a3699b3159e5311e.png]


	

	 
		A.
	[image: /files/assess_files/223bea9b-ce00-4576-90f8-580a7576e6a5/images/346d07c2c79df8dffbc58c4ba25499fc.png]




	
	

	 
		B.
	[image: /files/assess_files/eba2242c-02cf-41c5-94b2-b340d0c618bf/images/93b308bbe7ce5a04ee32c2fe6077a8e9.png]




	
	

	 
		C.
	[image: /files/assess_files/9d0a1f54-0d04-4d20-921e-56e68effced1/images/ba4be14f134f00d68ecce12b6407b0a9.png]




	
	

	 
		D.
	[image: /files/assess_files/ed40b225-99d9-47da-a60a-db0ad7ddf7a4/images/c66e1fe06b7cd3db0a2b0d3da1c269ec.png]




	
	

	 
	 



	156.
	The equation[image: /files/assess_files/f5ba636a-0ba2-4907-b7da-7c7b3f547abe/images/13d4dcaacf9bd1f3677bf962b200f3b9.png] has no solution. Which step would change the given equation so that it has infinitely many solutions?


	

	 
		A.
	adding 3 to the left side of the equation




	
	

	 
		B.
	adding 6 to the left side of the equation




	
	

	 
		C.
	subtracting 3 from the left side of the equation




	
	

	 
		D.
	subtracting 6 from the left side of the equation




	
	

	 
	 



	157.
	Which is the value of x in the equation below?
 
[image: /files/assess_files/2dcd8e67-5339-479f-8778-f3b0b969d321/images/1a2dae03534d7194154fb6d4097c5c43.png]


	

	 
		A.
	[image: /files/assess_files/8b2e1d66-f277-451b-b292-96c150651fef/images/9401ac2831e0b4254d5fad1eb7a1e8cc.png]




	
	

	 
		B.
	[image: /files/assess_files/0eca4f19-8870-4c7d-a958-09d422bdf9ec/images/c868f09eaca2aa793193fcb5278a3455.png]




	
	

	 
		C.
	[image: /files/assess_files/787d2724-9298-4315-81a9-1256edc3da46/images/40048cdf9e649d004ecfbb014a29148a.png]




	
	

	 
		D.
	[image: /files/assess_files/5cef497a-4799-4682-a388-9963b92f6275/images/963ea5113c4d7da3b6ff70afc114de51.png]




	
	

	 
	 



	158.
	Which of these functions increases at the fastest rate?


	

	 
		A.
	[image: /files/assess_files/e79cad5a-70ce-4e43-afe2-4308a24daf22/images/5c4300ae-cc5a-4556-a0a2-a8897fe1e215_a465044.gif]




	
	

	 
		B.
	[image: /files/assess_files/e289314e-34bc-4b91-be2c-9bd0c7a4cbfe/images/5c4300ae-cc5a-4556-a0a2-a8897fe1e215_a465045.gif]




	
	

	 
		C.
	[image: /files/assess_files/75a98197-6651-4894-8b48-a4eb352de227/images/5c4300ae-cc5a-4556-a0a2-a8897fe1e215_a464956.gif]




	
	

	 
		D.
	[image: /files/assess_files/322ce805-c882-4f95-82df-c029884a7274/images/5c4300ae-cc5a-4556-a0a2-a8897fe1e215_a465046.gif]




	
	

	 
	 



	159.
	The population of a city after x years is modeled by the equation [image: /files/assess_files/7fdbfd84-21f4-4e10-8561-027b7862958e/images/32620734efa18391519d79db9e3ebca6.png] What does 1.10 represent in this equation?


	

	 
		A.
	The initial population of the city is 110.




	
	

	 
		B.
	The initial population of the city is 20,000.




	
	

	 
		C.
	The population of the city is increasing by 10% each year.




	
	

	 
		D.
	The population of the city is increasing by 110% each year.




	
	

	 
	 



	160.
	George is comparing the graphs of two functions [image: /files/assess_files/7377da9b-4b13-4263-b455-f22425d61eac/images/3d56fb7d293d5b3a81bc347f7e64fc40.png] and [image: /files/assess_files/7377da9b-4b13-4263-b455-f22425d61eac/images/2a7439a60a5a2b6f667a5ee55439d0f9.png] for different values of x. Which statement best compares the values of the functions as the value of x increases?


	

	 
		A.
	[image: /files/assess_files/eb8bfb53-854d-4585-aafa-29300b55eb46/images/81835f6cb8a6b1299899ad18aa82ad09_123456789101112.png] will eventually exceed[image: /files/assess_files/eb8bfb53-854d-4585-aafa-29300b55eb46/images/1ccc3e1058ffe1f25624f45bce7a141b_123456789.png] for all real numbers greater than a certain x-value.




	
	

	 
		B.
	[image: /files/assess_files/271733c7-1ce6-4610-88af-a016f725cdd1/images/1ccc3e1058ffe1f25624f45bce7a141b_12345678910.png] will eventually exceed[image: /files/assess_files/271733c7-1ce6-4610-88af-a016f725cdd1/images/81835f6cb8a6b1299899ad18aa82ad09_12345678910111213.png] for all real numbers greater than a certain x-value.




	
	

	 
		C.
	[image: /files/assess_files/65cfd002-5241-43eb-9a7a-246b8effe038/images/81835f6cb8a6b1299899ad18aa82ad09_1234567891011121314.png] is greater than[image: /files/assess_files/65cfd002-5241-43eb-9a7a-246b8effe038/images/1ccc3e1058ffe1f25624f45bce7a141b_1234567891011.png] for all values of x.




	
	

	 
		D.
	[image: /files/assess_files/51c3787b-bceb-4a12-a97e-b970c5bb96c3/images/1ccc3e1058ffe1f25624f45bce7a141b_123456789101112.png] is greater than[image: /files/assess_files/51c3787b-bceb-4a12-a97e-b970c5bb96c3/images/81835f6cb8a6b1299899ad18aa82ad09_123456789101112131415.png] for all values of x.
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